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OTE I A0l @ROIER : B(6), AT A
O HAEAIY @TIZIAY U 34 B2 @MEAIY :Hf-24Y @2 : YR
(erel : Mgl
PE.OEOHRE. FUMNY UMY MENY. S M| quy | JAE | 27
21 A 28,041,993 | 26,878,107 | 1,163,886
AR Of| 4 9,983,482 9,425,596 557,886
S (6)/ &5t 9,983,482 | 9,425,596 557,886
CRRNp 8,952,715 8,416,465 536,250
-5 22 71,250 35,000 36,250
v 71,250 35,000 36,250
201 Yuh2IH| 71,250 35,000 36,250
02 52| 71,250 35,000 36,250
Ot 2| 2 wA|(87H5H)
Zd (4,375,000x14744) - 7|14 (35,000,000¥) = 26,250
OAgErAlZ (st & Ae2) EA
33 (5,000,0008x2744) - 7|8 (0¥) = 10,000
BT SAL e 1,050,000 550,000 500,000
e U8 g54SAt 1,050,000 550,000 500,000
231 AESAH| 1,050,000 550,000 500,000
00 AlHEZAH| 1,050,000 550,000 500,000
Otldes SAH|
44 (1,000,000¢x800712 ) - 7|4 (1,000,000&x30072) = 500,000
AWY2IES 1,030,767 | 1,009,131 21,636
Loty 2F el 121,829 101,829 20,000
QYT e HYRY 121,829 101,829 20,000
201 Y2 105,197 85,197 20,000
01 ArRae|s| 75,163 55,163 20,000
020258 =87 ALAHE7L ES 20,000,000 %14 = 20,000
YUt 2 10,000 8,364 1,636
YL egotae| 23 10,000 8,364 1,636
201 Y2 10,000 8,364 1,636
01 AtEZe|H| 1,636 0 1,636
OYotrERa ASO0|A| M| A YPrhls4
24 (4,525,000 ) - 714 (50%x6,50021x128) = 625
OYsteEas 7HAZIME| A GRUHrr2
4 (3,864,000 ) - 714 (80¥x3,40021x128) = 600
Odstras a824Y 2ZEDI 0|82a
dd (1,611,000 ) - 71F (100&x1,00021x12) = 411
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i) OMEAY &= AlE RAIEU2 @5 Al2HZFOH|

(erel : Mgl
PE.OEOHRE. FUMNY UMY MENY. S M| quy | JAE | 27
AR Of| 4 18,058,511 | 17,452,511 606,000
B (6)/ddtre-r2 18,058,511 17,452,511 606,000
ALY 17,902,511 17,352,511 550,000
Hi-g4= 22l (AR20i|4) 3,200,000 2,650,000 550,000
e Ald RAI2E 2,950,000 2,400,000 550,000
401 AlSB[YRCHH| 2,950,000 2,400,000 550,000
01 AlgH| 2,950,000 2,400,000 550,000
OBz 2248|728 (#2) £ 8
500,000,000 x14] = 500,000
OB Z=e|(==1) g2 0[2SAL A 2AEY
50,000,000&x 14 = 50,000
AY2IES 156,000 100,000 56,000
Y UFEIt 22| (AH204|4) 156,000 100,000 56,000
ALalLagrtae| 2F (RFE0|AH 156,000 100,000 56,000
405 AHeHzSH| 156,000 100,000 56,000
01 AMUSZZSH 156,000 100,000 56,000
-FEHEY|
44 (91,400,000 ) - 7|18 (147,000&%3007H) = 47,300
-SA7I
34 (21,840,000 ) - 7|4 (438,000%%307H) = 8,700




